Example 1 Comparing Simple and Compound Interest

Suppose that $5,000 is invested for 3 years at 8%.

(a) Find the amount of simple interest.

(b) Find the compound interest if interest is calculated once per year.
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Example 4

A certificate of deposit (CD) is a savings instrument that many banks offer. It usually gives a
higher interest rate, but you cannot access your investment for a specified length of time.
Suppose you deposit $3000 in a CD paying 6% interest, compounded monthly. How much
will you have in the account after 20 years? N .
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T= 993061 — £3,000 = ££430.¢)

IR el R Computing Compound Interest

Find the interest on $11,000 compounded daily at 5% for 6 years.
Assume a 365-day year.
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Example 5

Y ou know that you will need $40,000 for your child’s education in 18 years. If your account
earns 4% compounded quarterly, how much would you need to deposit now to reach your
goal?
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9. How much would you need to deposit in an account now in order to have $6,000 in
the account in 8 years? Assume the account earns 6% interest compounded monthly.
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10. How much would you need to deposit in an account now in order to have iZO 000 in
the account in 4 years? Assume the account earns 5% interest.c §-piv- ” (,4‘ V4 lh )7 '
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9. How much would you need to deposit in an account now in order to have $6,000 in
the account in 8 years? Assume the account earns 6% interest compounded monthly.

10. How much would you need to deposit in an account now in order to have $20,000 in
the account in 4 years? Assume the account earns 5% interest. | ;0.0 k )>
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